

$$\frac{a}{-ra} \text{ s } -\frac{1}{r}$$

$\frac{r a^r + r a m + n}{-a} = \dots \Rightarrow r a^r - r a^r - r a + a^r + r a s.$ $\lim_{n \rightarrow a} \frac{(n-a)(n-a-r)}{n-a} = r \Rightarrow n^r + m n + s n - (r a + r) a + a^r + r a$ $\frac{a^r - r a s}{a(a-r)s} \Rightarrow m = -a, h = 1, \Delta = (-a) s 1 r$	6
$f(0) \leq \lim_{n \rightarrow 0^+} f(n) = \lim_{n \rightarrow 0^-} f(n)$ $b \sin\left(\frac{\pi}{a}\right) = -r a^r + 1 = a - 1 \Rightarrow b \sin \frac{\pi}{r} = \frac{-1}{r} \Rightarrow b \leq \frac{1}{r}$ $\frac{r a^r + a - r s}{(a+1)(r a - r)} \Rightarrow \frac{a}{b} \leq \frac{r}{\frac{1}{r}} \leq r$	7
$\frac{m}{m+r} = \frac{n^r + m a - m - 1}{m n^r - m + a - 1} \Rightarrow \frac{m}{m+r} = \frac{(n+1)(n+m+1)}{(n-1)(m+m+1)}$ $\frac{m}{m+r} \leq \frac{m+r}{r m + 1} \Rightarrow r m^r + m \leq m^r + r m + r \Rightarrow m^r - r m - r \leq 0$ $\lim_{n \rightarrow \frac{1}{r}} f(n) = \lim_{n \rightarrow \frac{1}{r}} \frac{(n^r + r m - 1)}{(1 n^r - 1) + (a - 1)}$ $\left. \begin{matrix} m = r \\ m = -1 \end{matrix} \right\} \text{در صورتی که } m \text{ در مخرج قرار نگیرد}$	8
$(n-a)(n^r + a n - a) = n^r + (n-r) n + r a^r$ $(m-r) a = -a^r m - a m \Rightarrow m - r s - a^r - a$ $\Delta < 0 \Rightarrow a^r + r a < 0$ $\frac{-r}{+1-r} < -1 < a < 0$ $f(n) = \frac{\sqrt{r} a n + a }{ n^r - (a^r a) n + a^r } \rightarrow \lim_{n \rightarrow a} f(n) = \frac{\sqrt{r} a^r + a }{ a^r - (a^r + a) a + a^r } = \lim_{n \rightarrow a} \frac{\sqrt{r} a^r + a }{0^+} = +\infty$	9
$f(0) \leq \lim_{n \rightarrow 0^+} f(n) \Rightarrow \frac{r a - 1}{r a + r} = \frac{r(n+1)}{r(n+a)} \Rightarrow \frac{r a - 1}{r a + r} \leq \frac{1}{a}$ $r a^r - a \leq r a + r \Rightarrow r a^r - r a - r \leq 0 \xrightarrow{a \times C} a^r - r a - r \leq 0$ $\lim_{n \rightarrow \frac{1}{r}} f(n) = \frac{\frac{1}{14} + \frac{1}{r}}{\frac{1}{14} + 1} = \frac{\delta}{\frac{14}{14}} \leq \frac{\delta}{\frac{14}{14}}$ $(a-r)(a+1)$ $\frac{a}{a-1} \leq \frac{1}{a}$	10